Group Retro Example Chio | &yt

 Enroll and Choose Max Premium Ratio and Industry Class

Max Premium Projected Group Industry Group Loss Conversion
Ratio Chosen  Standard Premium Chosen Factor
1.25 $2,000,000 Services Industry 1.05
LCF is constant across all
| ¢ | LDF1z-menth 1 687 plans and group sizes
Basic Premium Ratio Determination LDF24-month 1,438
MPR  1.05 125 150 1.75 2.00 LDFsemonh 1.279
BPR .293( .141 ).097 .080 .071 LDF varies by Industry Group

* Individual Employers Pay Experience or Base Rated Premium each 6-
month Payroll Period

1st 6 Months 2"d 6 Months
Total of Premiums  Total of Premiums

$1,000,000 $1,200,000

Group Standard
Premium

$2,200,000




Group Retro Example Ohio| Enate

 Valuation Period 12-Months After Policy End — Refund Scenario

Retro . Standard Prem Basic Prem Ratio Loss Cnv Fctr Dev Incurred Loss
Premium = | $2200000 X 141 + 1.05 X $1,500,000
Retro  — $310,200 + $1,575,000
Premium
Retro  —  $1,885,200
Premium
Refund/ Standard Prem Retro Premium
Assessment —
Calculation $2,200,000 - $1,885,200
Refund/
Assessment =(_ $314,800 Group Refund
Calculation




Group Retro Example

- Bureau of Workers’
Ohlo ‘ Compensation

» Developed Incurred Loss Calculation

Developed Incurred

Losses
$1,500,000

PTD/Death
Incurred Losses
$200,000

Costs Reserves
$20,000 + $180,000

Non-PTD/Death Incur.
Losses Developed
$1,300,000

Loss Dev Non-PTD/Death Incr
Factori2-mnths Losses Undeveloped

1.687 X $770,500

Costs Reserves
$500,000 4+ $270,500




Compensation
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 Valuation Period 12-Months After Policy End — Assessment Scenario

Retro __ | Standard Prem Basic Prem Ratio Loss Cnv Fctr ~ Dev Incurred Loss
Premium ~ | $2200000 X 141 + 1.05 X $3,000,000

Retfo — $310,200 + $3,150,000
Premium

Retro  —  $3460,200
Premium
Maximum Standard Prem Max Prem Ratio Refund/ Standard Prem Retro Premium
Premium — Assessment —

$2,200,000 X 1.25 Calculation $2,200,000 - $2,750,000

Maximum _
Premium =— $2,750,000 Refund/
If Max Premium is less than Retro Premium, then AC\:SaSIEEISaTi(;rr]]t =(_$550,000 Group ASS@
use Max Premium in Assessment Calculation
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Determining the Break-Point

0 To determine the loss ratio required for
a group to receive a refund, the
following formula should be applied:

Target Loss Ratio = (1 — Basic Premium Ratio)
Loss Conversion Factor

This example:
Target Group Loss Ratio = (1-.141)/ 1.05
Target Group Loss Ratio = .818
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